SOLUTION FO SAT-1 SEMESTER-II (<u>GENERAL</u>)- 2020 Subject: Mathematics Course Code: MTMGCOR02T DATE OF SAT-1: 18/04/2020

Teacher: Dr. Prasanta Paul

1. Solve the IVP  $(x^{2} + 1)\frac{dy}{dx} + 4xy = x, y(2) = 1.$ 1.  $I \lor P (x^{2} + 1)\frac{dy}{dx} + 4xy = x \Rightarrow y(2) = 1$   $\therefore \frac{dy}{dx} + \frac{4x}{3x+1} d = \frac{x}{3x^{2}+1} = (0)$   $I \cdot F \cdot F \cdot \frac{dy}{2xn} dm = \frac{2^{2}by(3^{2}+1)}{2^{2}y(3^{2}+1)} = (2^{1}+1)^{2}$ Multiplying by integrating factors and on integration we get  $y (x^{2}+1)^{2} = \int \frac{\pi}{3x+1} (x^{2}+1)^{2} dn + C$   $= \int x (3^{2}+1) dn + C$   $= \frac{2^{2}}{4} (x^{2}+2) + C$ Given that  $a + \pi = 2, y = 1$   $\therefore (4+1)^{2} = \frac{4}{4} (4+2) + C$   $\Rightarrow 25 = 6 + C \Rightarrow C = 25 - 6 = 19$ Thus the  $x \in 1^{n}$  in  $y (x^{2}+1)^{2} = \frac{2^{2}}{4} (x^{2}+2) + 19$  Am.

2. Given that y = x + 1 is a solution of  $(x + 1)^2 \frac{d^2 y}{dx^2} - 3(x + 1) \frac{dy}{dx} + 3y = 0$ . Find the general solution.

2. First we observe that  $y = 1 \pm n$  sets by given  $q_{1}^{n}$ . Then let  $y = (4\pi)v^{2}$ Using the above transformation we want to reduce the given equation to the first order homogeneous diff. equ linear diff. equation as below:  $\frac{du}{dm} = (4\pi)\frac{dv}{dm} \pm V$ , and  $\frac{dv}{dm} = (4\pi)\frac{dv}{dm} \pm 2\frac{dw}{dm}$ Substituting the expressiones for y,  $\frac{dv}{dm} \cdot \frac{dv}{dm}$  into the equ'  $(2\pi + 1)^{2} \left[ (4\pi) \frac{dv}{dm} \pm 2\frac{dv}{dm} \right] - 3(2\pi + 37 = 0)$  we get  $(2\pi + 1)^{2} \left[ (4\pi) \frac{dv}{dm} \pm 2\frac{dv}{dm} \right] - 3(2\pi + 1) \left[ (4\pi) \frac{dv}{dm} \pm 1 \right] \pm 3(4\pi)v^{2}$  $=) (2\pi + 1)^{2} \frac{dv}{dw} \pm - (2\pi + 1)^{2} \frac{dv}{dm} = 0$ 

=> (x+1) div - dv =0

Letting 
$$W = \frac{dV}{dn}$$
 we obtain the first-order homogeneous linear  
 $disti qu'' :$   
 $(3(4)) \frac{dW}{dn} - W = 0$   
 $\Rightarrow \frac{dW}{W} = \frac{du}{NH}$   
Integrating, we obtain the general  $M$ ?  
 $W = eelo c (3(4))$   
 $W = eelo (3(4))$ 

3. Solve by method of variation of parameters:  $(D^2 + 4)y = \csc 2x$ , where  $D \equiv \frac{d}{dx}$ .

3. 
$$(D^{+}+4) = (01ec 2x, D = A$$
  
To find C.F. Auxiliary equation is  $m^{+}+20$  given  $m = \pm 2i$   
The C.F. In Close 2x + CSin2x.  
To And PI. Ut  $J_1 = (03ix, Y_1 = sin2x)$   
The wromskion of y, and  $J_2$  is  
 $W(Y_1, Y_2) = \begin{bmatrix} y_1 & Y_1 \\ y_1 \\ y_1 \end{bmatrix} = \begin{bmatrix} 053m & sin 1m \\ -25mm & 2057m \end{bmatrix} = 2 \neq 0$   
Therefore  $Y_1 & Y_1 = \begin{bmatrix} 052m + V_1(m) sin 2n \\ -25mm & 2057m \end{bmatrix} = 2 \neq 0$   
Therefore  $Y_1 & Y_1 = 0$  are independent Ablahow.  
Let P.T. be  $J_p = V_1(n) (052n + V_1(m) sin 2n)$   
 $\therefore D.S_p = -2V_1 sin 2n + 2V_2 (057m + V_1' (057m + V_2'sin 2n))$   
 $Ao that,  $D.S_p = -2V_1 sin 2n + 2V_2 (057m)$   
 $B = -4V_1 & 6052m + -4V_2 sin 2m - 2V_1' sin 2m + 2V_2' (057m)$   
 $B = -4V_1 & 6052m + -4V_2 sin 2m - 2V_1' sin 2m + 2V_2' (057m)$   
 $B = -2V_1' sin 2m + 2V_2' (057m) = 0$  (0)  
Solving (1) and (2) we get  $V_1' = -\frac{1}{2} \implies V_1 = -\frac{1}{2}X$$ 

and 
$$V_2' = \frac{\cos m \cos 2 2m}{2} = \frac{1}{2} (\cot 2x)$$
  
 $\Rightarrow V_2 = \frac{1}{4} (\cos 2 1 \sin 2x)$   
Accordingly,  $Y_1 = -\frac{1}{2} \times (\cos 2x + \frac{1}{4} \log 1 \sin 2m) \sin m$ .  
 $\therefore$  the complete solution is  
 $Y = G (\cos 2m + C_2 \sin 2m) - \frac{3}{2} \cos m + \frac{1}{4} \log 1 \sin m) \sin m \sqrt{m}$ 

4. Solve,  $(x^2D^2 - xD + 4)y = \cos(\log x) + x\sin(\log x)$ , where  $D \equiv \frac{d}{dx}$ .

$$\begin{array}{l} \left(\chi^{+}b^{+}-\chi D+4\eta\right) \forall = (05(log \pi) + \chi \sin(lug \pi), D \equiv \frac{1}{6\pi} \\ & \text{Ne put } \chi = e^{\dagger} \text{ or } t = log \chi. \\ & \text{If are operator } \chi = \frac{1}{6\pi} = \chi D \text{ bs cheared by } D, \text{ , then we get} \\ & \chi D = D, \forall j, \chi^{+}D = D, (D_{1}-U) \#. \\ & \left[D_{1} = \frac{1}{6\pi}\right] \\ & \text{The given equily fieldness to on equation with container coefficients with independent voltable t in place D = \chi; thus \\ & \left[D_{1}(D_{1}-U)-D_{1}+4\right] \forall = (0st+e^{\dagger}sint) \\ & \left[D_{1}^{-}-2D_{1}+4\right] \forall = (0st+e^{\dagger}sint) \\ & = \chi \left[C_{1}(ss(5\log \chi \pi) + (2\sin \sqrt{3}\log \pi)), (3\log \pi), (3\log \sqrt{3}\log \pi)\right] \\ & = \chi \left[C_{1}(ss(5\log \chi \pi) + (2\sin \sqrt{3}\log \pi)), (3\log \sqrt{3}\log \pi) \right] \\ & = \chi \left[C_{1}(ss(5\log \chi \pi) + (2\sin \sqrt{3}\log \pi)), (3\log \sqrt{3}\log \pi) \right] \\ & = \frac{1}{D_{1}^{+}-2D_{1}+4} \\ & =$$

5. Solve the PDE by Lagrange's Method: px(x + y) - qy(x + y) + (x - y)(2x + 2y + z) = 0.

5. -the given eu " may be written an 
$$\frac{1}{2}(\frac{1}{1}+3)\frac{1}{2}=-\frac{1}{2}(\frac{1}{1}+3)\frac{1}{2}(\frac{1}{1}+3)\frac{1}{2}=-\frac{1}{2}(\frac{1}{1}+3)\frac{1}{2}(\frac{1}{1}+3)\frac{1}{2}=-\frac{1}{2}(\frac{1}{1}+3)\frac{1}{2}(\frac{1}{1}+3)\frac{1}{2}=-\frac{1}{2}(\frac{1}{1}+3)\frac{1}{2}(\frac{1}{1}+3)\frac{1}{2}=-\frac{1}{2}(\frac{1}{1}+3)$$